>
N =2 =
20148 5 S0la LA SAAEY ~ UHES
S AL E
DS AN
P AR (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
2 8,247,695 10,827,841 A 2,580,146
& 300,000
< 185,000
Al 7,762,695
AOH & 671,900 322, 349,600
AL H & 671,900 322, 349,600
SAAHEESRFA 76,900 72, 4,600
201 Let24d] 37,000 15, 22,000
01 At 2teltl 37,000 15, 22,000
O ZAAHE HRFA M=, K3 =&
= 37,000
202 44l 9,500 9, 0
01 S LHOIYI 9,500 9, 0
O ZAAHE 23 HR2F2 9,500
203 YR =&l 30,400 32, A 1,600
03 AIHF=XH R =AH| 30,400 32, A 1,600
O SAAHEAMEFE, NSSAAL 30,400
el SAHEANE 2F 24 45,000 50, A5,000
401 A& HIZ 2018 45,000 50, A5,000
01 A& HI 45,000 50, A5,000
O &9 ZAAHEANE 2 24 45,000
ST SEEZ XSSAY 200,000 200, 0
403 XIS E X201 & 200,000 200, 0
02 SII12SOICHEHCHE AF HI 200,000 200, 0
O st sdHd=z XNES AMHIREZ 200,000
DAEAIAHE WEH 249 350,000 350,000
401 AIEHI L 20HEI 350,000 350,000
01 A& HI 350,000 350,000
O ZAZAIAHE HEH 29 350,000
NAEEZ 4 6,700,000 8,820, A 2,120,000
SAHE E2 4 6,700,000 8,820, A 2,120,000
K o~AE X 28 EZ2IHE S A 1,400,000 2,000, A 600,000
401 AIEHI L 2CHEI 1,400,000 2,000, 600,000
01 A& tl 1,395,000 1,995, A 600,000
O XNYgaeH~4EX2H T2 I3 A 1,395,000
03 A& S THHI 5,000 5, 0
O AIZ 201l 5,000
QO AWK € T2IHESAM 100,000 100, 0
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X ZH
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S ALH =

SAAE £E2 HE

SA - FE - BI(EA) - NRAY - By 0l &t San DS
401 A& HIZ 201 I 100,000 100,000 0
01 A& HI 98,000 98,000 0
O WY ATHAE T2IHESAM 98,000
03 Al 2 0HHI 2,000 2,000 0
O AME20Udl 2,000
DA DAL 2 E TS A 250,000 0 250,000
401 Al HIZ 201 I 250,000 0 250,000
01 A& HI 249,000 0 249,000
O WD Y2 &SI A 249,000
03 Al =2 THHI 1,000 0 1,000
O AlZ20HhI 1,000
MES 28 T2 HESA 500,000 0 500,000
401 AIEHI L 2 0] 500,000 0 500,000
01 A& HI 497,000 0 497,000
O 328 E2HESAM 497,000
03 A& S THHI 3,000 0 3,000
O AM&=20Ul 3,000
ESEHIMZ TZ2HE S A 1,000,000 1,000,000 0
401 AIEHI L 201 1,000,000 1,000,000 0
01 A€ HI 995,000 995,000 0
O 2sT-HI22 2L S AM 995,000
03 AlE S THHI 5,000 5,000 0
O AM&E=20Udl 5,000
S-S T2IHE S A 500,000 1,050,000 A 550,000
401 Al HIZ 2018 500,000 1,050,000 A 550,000
01 A& HI 498,000 1,045,000 A 547,000
O =gs~-UHEsS2L T2 IHESAM 498,000
03 Al 2 THHI 2,000 5,000 A 3,000
O AlZ 2 HbI 2,000
SANHBANEEZAAEH & RA22 . EH| 300,000 500,000 200,000
401 Al HIZ 201 Y] 300,000 500,000 A200,000
01 A& HI 299,000 498,000 A 199,000
O ZAAHENMEEZHANLEAHZLRA2IEZEHS
At 299,000
03 Al S THHI 1,000 2,000 A1,000
O AM&E=20Ul 1,000
SAAHE T2 MREXN E4 300,000 600,000 A300,000
401 Al BIZ 2018 300,000 600,000 A 300,000
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S SAHE D
M CTAHEEZZ A
S TAIAHE &2 W& C
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
01 Al& H| 299,000 599,000 A 300,000
O SANHEEZ AIREXNE A 299,000
03 Al 201 Y| 1,000 1,000 0
O A&E20yl 1,000
SCE SEAZA 200,000 1,650,000 A 1,450,000
401 Al HIZL 2 0HY| 200,000 1,650,000 A 1,450,000
01 Al&H| 199,000 1,645,000 A 1,446,000
O 22 &2 A 99,000
03 Al 20| 1,000 5,000 A4 ,000
O A&E20yl 1,000
AEES MNEOIMEY T2 IME S A 150,000 0 150,000
401 AIEHIZL 201 Y| 150,000 0 150,000
01 Al&H| 150,000 0 150,000
O A2EsS NEOIE € T2HEZA 150,000
oA MEHES AT & ZA 2,000,000 0 2,000,000
401 AlEHIZL 2 0HY| 2,000,000 0 2,000,000
01 Al&H| 1,998,000 0 1,998,000
O 2o ASHER AT HEZ2AH 1,998,000
03 A2 HH] 2,000 0 2,000
O A&Z2Uyl 2,000
AN=EIbsst SADIBE ZM 427,500 730,000 A 302,500
2 300,000
Al 127,500
2T A 2HG ALY 427,500 730,000 A 302,500
2 300,000
Al 127,500
HAE2IS2AEILHALE 300,000 700,000 A 400,000
2 300,000
401 Al HI L 2 0HHI 300,000 700,000 A 400,000
2 300,000
01 Al&H| 300,000 700,000 A 400,000
O &dAHE 23122 LAY 300,000
2 300,000
CANZBZ2ANESRALEY 27,500 30,000 A 2,500
401 AlEHIZL 2 0HY| 27,500 30,000 A 2,500
01 Al&H| 27,000 29,500 A 2,500
O ZAl EBBANEZSEX L Hy| 27,000
03 A& 2 HH| 500 500 0]
O A& 20yl 500
& FEH AEHIHE 82 100,000 0 100,000
_ 3 _
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M XNEIbse TAJIEE =4
chelr AT HHS ALY (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
401 A& HIZ 201 I 100,000 0 100,000
01 A& HI 100,000 0 100,000
O Z&¥UHuNFH AFHHIAE ~8EH 100,000
S AICI At Q! 370,000 0 370,000
< 185,000
Al 185,000
S AICI At 370,000 0 370,000
< 185,000
Al 185,000
FEIH YR F2CIRC HH A 370,000 0 370,000
< 185,000
Al 185,000
401 Al HIZ 201 8] 370,000 0 370,000
< 185,000
Al 185,000
01 A& HI 366,000 0 366,000
O Y33 MR ZACOXL HH A 366,000
< 183,000
Al 183,000
03 Al 2 THHI 4,000 0 4,000
O AlZ=20Hbl 4,000
< 2,000
Al 2,000
HE2HZHI (S AIHE D) 78,295 215,541 A 137,246
ZHI(ZAIHE D) 78,295 93,670 N 15,375
2ZHI (S AIHE D 78,295 93,670 A 15,375
201 ¢er24l 48,750 63,750 A 15,000
01 At 22l 44,250 59,250 A 15,000
O DIHZAl XY SA#E JRFEN S 44,250
02 2324l 4,500 4,500 0
O &I, &ot=5 , dstg = 4,500
202 O4dl 22,420 22,420 0
01 = LH 4 Hi 22,420 22,420 0
O ZANdE gRF=H S 4,750
O AMYUS=E ALET S 17,670
203 ¥ S =&l 7,125 7,500 A 375
01 JI22E 2= 3,135 3,300 A 165
OJIA2IdER=aHI 3,135
04 FN2ELSZ=TH| 3,990 4,200 A 210
O BA2EYR=4H 3,990
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5 - 4
A FB B (B) - HRAY - BES 0l &t o il Bl RE2

O XU 29H 5,000
C2HEXHY Y tA e 564,000 838,900 A 274,900
201 Let24d] 25,000 25,000 0
02 2324l 25,000 25,000 0

O HM&&dl |sX2cltl 25,000
206 M= Hl 289,000 334,000 A 45,000
01 M= 4l 289,000 334,000 A 45,000

O M&e™d 72 120,000

O M8 23 +¢ 135,000

O N8 2 #¢ 12,000

O N&d&8 20U 2 10,000

O H&) 228 (1E) 7 6,000

O M&EXM(gaz2s, 43S) Ol 2 2 6,000
401 AIEHI L 201 250,000 320,000 270,000
01 A& HI 250,000 320,000 A70,000

O H& & S22 & (HUlYR) 250,000
EZ20A ™Mo 90,000 189,000 299,000
305 HHat= s 10,000 10,000 0
o1 Hia=s 10,000 10,000 0

O 220 OGHE LAXMel Eolthiazs 10,000
401 A& HIZ 2018 80,000 179,000 A 99,000
01 A& HI 80,000 179,000 A 99,000

O T2HY MREX(DI2EX) B4 80,000
WS AL AAl 3,000 3,000 0
101 @14l 3,000 3,000 0
4 JI2ZtHZ22 s+ 3,000 3,000 0

O DEBZA A2 U 2AY S 3,000
BE2E8=3 Ex=3A 220,000 80,000 140,000
201 Let249] 5,000 5,000 0
01 At 22/l 5,000 5,000 0

O BEAE=2 E=Z2A sSH 82 [ 5,000
206 M= Hl 15,000 15,000 0
01 M= 4l 15,000 15,000 0

O HdES E8 0tAZ P 15,000
403 XIS E X201 & 200,000 60,000 140,000
02 S| 2SI CHSHCHE AH B 200,000 60,000 140,000

O BEAE= E=ZA 200,000
SHEEZSZIAY 1,590,500 2,236,000 A 645,500




A R =y
HH: NARYLHE 918 T2 =B
te: sHESSSHEIEAY (&)
SA - BB B () - MM - BES Ol &t o San HmEET
SHEZZE I IFAML (HZ A 500,500 1,062,000 A 561,500
401 Al HIZ 201 Y] 500,500 1,062,000 A 561,500
01 A& HI 499,000 1,060,000 A 561,000
O 38sk 20736 &2 EZEIA 49,000
O 23k 20136 &2 SZHIA 270,000
O DA WRBEZHISHEI 29 180,000
03 Al S THHI 1,500 2,000 A 500
O AlZ 201l 1,500
SHEEZ 0I2EX 24 A 40,000 50,000 A 10,000
401 AIEHIZL 2] 40,000 50,000 210,000
01 A& Hl 40,000 50,000 A 10,000
O 028X £ MREX 24 40,000
QU Ee~FMR2 =2 I I A 250,000 201,000 49,000
401 Al HIZ 201 I 250,000 201,000 49,000
01 A& HI 249,000 200,000 49,000
O Ige~-ENAAA2 T2 SHEZEFIA 249,000
03 Al S HHI 1,000 1,000 0
O Al 20HHI 1,000
SHEZZEIE A (S 800,000 923,000 A 123,000
401 AIEHI L 20 800,000 923,000 A 123,000
01 A& Bl 798,000 920,000 A 122,000
O gna~aE0sdt &2 223 AM 798,000
03 A& SR THHI 2,000 3,000 A 1,000
O AIZ 201l 2,000
C2AMEE |X 2l 388,500 2,020,000 A 1,631,500
nEte & FUE= 145,500 50,000 95,500
401 AIEHI L 2CHYI 145,500 50,000 95,500
01 A& HI 145,000 49,500 95,500
O sl & uErilE2s 45,000
O NZANAE 89 L 24 AIY 100,000
03 A& =TI 500 500 0
O AIZ 201l 500
SZHEXNH U SA SHOPASS 243,000 270,000 A 27,000
401 AIEHIZL 20 243,000 270,000 A 27,000
01 A& Bl 242,000 269,000 A 27,000
O E2EXNE HHSA 45,000
O TZoHAILS CHOLAH 197,000
03 Al S HHI 1,000 1,000 0
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Hu: NARHLHES 9IS T2Y HE
22 E2AE2 |1 22 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
|| O ANg=us 1,000
C2FHIAY 5,439,850 5,656,350 A 216,500
= 202,000
= 240,000
= 30,000
Al 4,967,850
c=2 2 o FH|(SZ4H) 1,136,500 201,500 935,000
< 30,000
Al 1,106,500
401 AIEHI L 201 1,136,500 201,500 935,000
< 30,000
Al 1,106,500
01 A& HI 1,130,000 200,000 930,000
O 23U T2 SHEIAIA(HL0IS) 200,000
O 24 DXz Z2EEX ZE3AM 600,000
O BEAM JIstl JLZ2 SHHEIAM 80,000
O J0tet Ot Y2 FHISAM 60,000
< 30,000
Al 30,000
O UWa~d=2t &2 ExZA 70,000
O JHOr27 OS2 EHI S A 20,000
O S0 o= HHISAM 50,000
O M+=8 ATHAI €& S2 HESAM 50,000
03 A& S THHI 6,500 1,500 5,000
O AlIZ20Hhl 6,500
WSMD FRMNLAY 200,000 100,000 100,000
= 100,000
Al 100,000
401 AIEHIZL 20 200,000 100,000 100,000
= 100,000
Al 100,000
01 A& HI 199,000 99,500 99,500
O WsSAD 2R HEAMS 199,000
& 100,000
Al 99,000
03 Al 2 THHI 1,000 500 500
O AM&=20Ul 1,000
C2 9 o HUl (M) 1,649,350 1,998,850 A 349,500
201 et 2,850 2,850 0
01 Al 221 2,850 2,850 0
O 52 %2 sy g2 =7 2,850
401 AIEHI L 2CHEI 1,646,500 1,996,000 A 349,500
01 A& tl 1,640,000 1,990,000 /350,000
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o X YRS PG TR B
@ = tS (&t
5 - 4
HH - B (3H) - KA - BYS 0l &t o il Bl RE2
O FAEE2dH THEE S A 710,000
O MU S2HHISA 180,000
O MAUHE=XNISE2ILEZA 500,000
O sSEXNIINLIISAM 90,000
O g5xzu~Au02t AL I A 60,000
O 2diotd & mHoSA J2HE= 100,000
03 A& 2 THHI 6,500 6,000 500
O AM&R0Udl 6,500
NHEANZTZ2HER/T 2 MY 790,000 1,176,000 A 386,000
=2 202,000
Al 588,000
401 Al HIZ 2018 790,000 1,176,000 A 386,000
= 202,000
Al 588,000
01 A& HI 788,000 1,173,000 A385,000
O HEAUEKIARSMY 788,000
= 202,000
Al 586,000
03 Al 2 THHI 2,000 3,000 A 1,000
O AlZ=20Hbl 2,000
etz XS3HALE 964,000 1,100,000 A 136,000
401 A& HIZ 201 Y] 601,000 0 601,000
01 A& HI 601,000 0 601,000
O WS ZXRNESAY 601,000
403 XIS E X201 & 363,000 1,100,000 A737,000
02 I 2SI CHSHHEH AH B 363,000 1,100,000 A737,000
O HSEZANSAY 363,000
HEEH Otste] S2IHE S A 200,000 100,000 100,000
401 Al HI K 201 200,000 100,000 100,000
01 A& HI 199,000 100,000 99,000
O HEH Otatel T2IHE A 199,000
03 A& =2 THHI 1,000 0 1,000
O AIZ20Hhl 1,000
SMWIE XA 500,000 280,000 220,000
& 140,000
Al 360,000
401 AIEHIZL 2 CHEI 500,000 280,000 220,000
= 140,000
Al 360,000
01 A& Hl 499,000 280,000 219,000
O sz A A 499,000
& 140,000
— 9 —




A AL
HH: NARYLHE 918 T2 =B
He S =AY (=& &)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
Al 359,000
03 AIE 2 0H bl 1,000 0 1,000
O AIZ20Hhl 1,000
272 FHAY 2,790,000 3,321,000 A 531,000
& 35,000
= 60,000
Al 2,695,000
L2722 FEIAMG(E2HE) 786,000 809,000 A 23,000
401 A& BIZ 201 8I 786,000 809,000 A 23,000
01 A& HI 780,000 807,000 A 27,000
O 238 272 EHAZ 60,000
S A72 ZHAY 60,000
O 38 A7 HHAS 60,000
O SMH A72 FHAZ 60,000
O &&s &7 2 A 60,000
O3S 272 HUAZ 60,000
O ggds 272 EHlAE 60,000
O =53 272 EHAZ 60,000
O ua1s 472 FulAg 60,000
O uges 272 EHAZ 60,000
O U233 472 EUlAg 60,000
O 283 272 EHAZ 60,000
O 0lds 472 EHIAZ 60,000
03 A& =2 THHI 6,000 2,000 4,000
O AlZ20Hhl 6,000
A2 HUHAMY (ZE2A4) 846,000 882,000 236,000
401 AIEBIZL 28I 846,000 882,000 A 36,000
01 A& Hl 840,000 880,000 240,000
O dUHEZFZHI S A 60,000
O Na=HE XU S A 60,000
O HOHE ZEHIS A 60,000
O NEHEZZUHIS A 60,000
O S4HEZFHI S A 60,000
O UEHEZ XU S A 60,000
O SEHEZTZHISA 60,000
O eSS FHHI S A 60,000
O BESEZEUHISA 60,000
O SYSTEZFZHI S A 60,000
O ZESEZ2EUISA 60,000
O BLSEZFZHISA 60,000
O RLYSEZZHISA 60,000
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A R =y
HH: NARHLHES 9IS T2Y HE
& 2nsae (=& J)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 At 22l 3,800 3,800 0
O s8Zdi=s o 5 Zd=s22 2 3,800
02 =24l 2,688 2,688 0
O EZHE8=9 & Mele==& 2,688
206 M= Hl 4,000 4,000 0
01 =4l 4,000 4,000 0
O ggzuns 24 22840 2 4,000
401 AIEHI L 20 22,000 25,000 A 3,000
01 A& HI 22,000 25,000 A 3,000
O sgZins RBHEIANE 43 2 B 13,000
O 8212 E) L 9,000
405 TtabF S| 3,000 12,500 A 9,500
01 AL ESFH SH 3,000 12,500 A 9,500
O s8Zil= 8=% & 852 HAHI 2 3,000
202 HANAE £X 2 22 22,000 0 22,000
401 AIEHI L 2] 22,000 0 22,000
01 A& Bl 22,000 0 22,000
O HEE =2 AU &X 15,000
O 8% AAN o8 & & 7,000
otME OF2F &E2X29 R 3,772,700 4,443,400 A 670,700
B2os RANE> 901,000 901,000 0
206 M= Hl 370,000 370,000 0
01 24l 370,000 370,000 0
O Bots RANESE 2SN (BE, AHI|S)
-2 370,000
401 Al HIZ 201 I 531,000 531,000 0
01 A& HI 528,000 528,000 0
O 138 BotS SNBSS AH(SHIHH Q) 88,000
O 23N BoS RANB=BAH(SHIIAHY) 88,000
O 3AY BotsS SNBSS AH(SIHH Q) 88,000
O 4HY BoS SNBSS AH(SHIAHY) 88,000
O 53N BosS SNBSS AH(SHIHH ) 88,000
O EXMXY Bots SAES=SAHEIHAL) 88,000
03 Al 2 THHI 3,000 3,000 0
O AM&=20Ul 3,000
28 RANE> 522,000 2,353,400 A 1,831,400
206 M= Hl 170,000 0 170,000
01 M= 4l 170,000 0 170,000
O NHzs RAE=E Z=2NHMs #E 170,000
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5w %;azﬂg@% SlEt TR &
Sl oHNME OF2 E2XE KA (22 &d)
SA B ER(EN) - AR - BES of & o4 San HIDZ2
401 AIEHI L 2CHYI 352,000 472,000 A 120,000
01 Al £ HI 348,000 468,000 A 120,000
O NEs 82 SAE3AH(SIHAA) 88,000
O HZE £ NSUHAESEEZE S EFZAH(EIHA
oF) 80,000
O FJEE ML B3 AH(SIHA L) 63,000
O N2E FHEIEI EXSM 90,000
O IJzs == NE= =c 27,000
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2A NS
M W=D Belst Clean nS&3 =4
el nSAHMAIE =25 E WSHA N (&t
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
FIAE =FE & Fl 70,000 0 70,000
< 10,000
Al 60,000
401 Al HIZ 201 Y] 70,000 0 70,000
< 10,000
Al 60,000
01 A& HI 70,000 0 70,000
O FXE ZH(ZAAHEANEZHENA) 50,000
O LHEOES FXUHE ZESA 20,000
< 10,000
Al 10,000
Oeol2Es =29 HEAY 230,000 682,000 A 452,000
& 40,000
Al 190,000
401 Al HI K 201 I 230,000 682,000 A 452,000
= 40,000
Al 190,000
01 A& HI 229,000 678,000 A 449,000
O HeElol2sY9aAd 229,000
& 39,500
Al 189,500
03 Al S HHI 1,000 4,000 A 3,000
O HelolEs A 1,000
& 500
Al 500
DSZelAIAE(ATMS) =AY 500,000 1,800,000 A 1,300,000
401 Al HI K 201 I 500,000 1,800,000 A 1,300,000
01 A& tl 500,000 1,800,000 A 1,300,000
O nsZelAAE 2SAS 500,000
Helo] FAaZFEo Tt ASAY 300,000 300,000 0
& 150,000
Al 150,000
401 A& HIZ 201 I 300,000 300,000 0
& 150,000
Al 150,000
01 A& HI 298,000 296,000 2,000
O Helol gadgemet 2EAY 298,000
& 149,000
Al 149,000
03 Al 2 0HHI 2,000 4,000 A 2,000
O Heolgadgeloe 2sAY 2,000
& 1,000
Al 1,000
YAUNESHBANAE(UTIS) 2EAY 97,000 0 97,000
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401 Al B2 28I 97,000 0 97,000
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01 A& HI 97,000 0 97,000
O ZYNSHBAAE(UTIS) S A 97,000
= 97,000
sns 28 s =4 24,849,713 19,622,239 5,227,474
= 214,800
< 904,277
Al 23,730,636
2280 |IIEEXZ2 = 18,014,040 15,014,040 3,000,000
101 @124l 14,040 14,040 0
M4 JI2ZHZEXNSES 14,040 14,040 0
O SNHEZSAN JIZM2ZZ2N E= 14,040
307 glz2tol & 18,000,000 15,000,000 3,000,000
09 2HAHAEXS 18,000,000 15,000, 000 3,000,000
O 249 SNHEXZS(HA) 2,500,000
O 22 RIIEBXE2S(SEX) 15,500,000
AMUsSHEHA MEBXE 5,741,173 4,188,199 1,552,974
= 904,277
Al 4,836,896
101 @124l 1,248 1,248 0
M4 II2HZ2Z2NSES 1,248 1,248 0
O AMUH2A HAHIAZED 2182 1,248
301 L2 A= 3,648 3,840 A192
09 HALAHIEA S 3,648 3,840 A192
O MUHA 328523 =083 02 3,648
307 21201 A 5,736,277 4,183,111 1,553, 166
< 904,277
Al 4,832,000
09 2+=HAHEBXS 5,736,277 4,183,111 1,553, 166
O CNGH & 222 X3 480,000
O ANUHA REESH EAEAHS 600,000
O MU sHEHA HEXES 1,780,062
< 784,062
Al 996,000
O sHEHA 8Xld N& 2,796,215
< 96,215
Al 2,700,000
O MadHA 2gd X& 80,000
< 24,000
Al 56,000
EASEM S SAS 1,050,500 400,000 650,500
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= 12,000
Al 32,000
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Al 32,000
01 2289 44,000 20,000 24,000
O AMUHA 8HXEd NSEZASH 20,000
O HAISEH &9 24,000
= 12,000
Al 12,000
tHaswes AMHlIA e 1,134,030 1,073,780 60,250
= 416,800
= 267,200
Al 450,030
ZArZE 243t 45,000 0 45,000
301 et a3z 45,000 0 45,000
11IIEtEA S 45,000 0 45,000
O =zi&38e HEZ XN 45,000
SESAR(HA, SHAI) AHANS 2 K& 824,030 796,780 27.250
= 396,800
< 198,400
Al 228,830
203 YR =&l 4,750 5,000 A 250
03 AIHZ=XH 2 =AH| 4,750 5,000 A 250
O lzsnsEMddlAs g2F2 4,750
301 LEtE A= 13,680 14,400 AT20
09 HALAHIE& S 13,680 14,400 AT20
O LSXIASMI &3 13,680
307 21201 A 12,000 12,000 0
02 QB AEXS 12,000 12,000 0
O JHelEAl SAES XI& 4,000
O 822X RSt AL X2 2,000
O ZREEA SAEs X& 6,000
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= 20,000
< 10,000
Al 10,000
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307 21201 A 24,000 24,000 0
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O "eleAl SdH 22H X2 24,000
S HAl A 5,000 5,000 0
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wWSetd WE 154,920 258,400 A 103,480
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101 1A dl 12,000 0 12,000
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O Heldlns3d 2ele2ey 12,000
201 LBt 40,000 0 40,000
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Mz THOH &L THY ol
EH2: Alg|MBHO OtM 235l HE (2 &HH)
5 - 4
SA BB (3H) - NRAY - B Ol &F o4 %@ﬁ HRE2
O 2sx2ExEdAdH| 3,150
202 044l 5,415 5,700 A 285
01 2L Y| 5,415 5,700 A 285
O Mot P2 Fz 5,415
301 LBt A= 11,020 11,600 A 580
09 HAIAHI EAZ 11,020 11,600 A 580
O WHUS S@Es= 28 S 243 3,800
O2g3*xEd s|0d" Ha=z 3,800
O 8D o™ E A DIZ2HAH| B4 3,420
403 XX SHHS K20 & 15,000 15,000 0
02 ZII2S0CHeCH& AFS I 15,000 15,000 0
O EFd2AE(TEE)BH 15,000
MO8 MEOHM JHAE AL 22,500 25,000 A 2,500
401 Al HI L 2 0HHI 22,500 25,000 A2,500
01 Al& H| 22,500 25,000 A 2,500
O MilAExsS Hl 22,500
HEE S=0/2tH 2,000 2,760 AT60
= 1,000
== 300
Al 700
206 M = Hl 2,000 2,760 AT60
= 1,000
= 300
Al 700
01 X2 H| 2,000 2,760 AT60
O HHEE 20| ™AL AX 2,000
= 1,000
= 300
Al 700
THLHO 2 & A6 A EEM T} 11,562,074 19,594,616 N 8,032,542
= 6,646,827
= 2,101,275
Al 2,813,972
ol RANE% 103,105 934,700 A 831,595
& 14,000
Al 89,105
201 LBt Y| 23,300 17,300 6,000
01 AP 22| d| 3,300 3,300 0
O ot& KA gFRFX 3,300
02 2%l 20,000 14,000 6,000
O EFXNEH 2222 20,000
202 04| 1,805 1,900 A\ 95
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Al 472,000
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SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
206 M= Hl 15,000 15,000 0
01 =8l 15,000 15,000 0
O =X 2 15,000
02 OI=LTHOHE & 2 100,000 100,000 0
02 RIZIOITHOH 2 &t = 100,000 100,000 0
O MFAE XIS X2 100,000
307 glz2tol & 10,000 10,000 0
< 5,000
Al 5,000
06 283 10,000 10,000 0
O Exoll2E3 10,000
< 5,000
Al 5,000
401 Al Bl 28I 70,000 70,000 0
01 A& HI 70,000 70,000 0
O Mol & ==+ FHl X 70,000
LUMHAIES etE el 16,142,005 19,887,100 A 3,745,095
= 8,930,000
< 3,573,000
Al 3,639,005
Mo & AFECHHI 403,005 269, 100 133,905
201 Let24d] 51,200 17,200 34,000
01 At 22l 8,200 8,200 0
O 2HEE dRFA = 8,200
02 33224l 43,000 9,000 34,000
O YA S22 43,000
202 oddl 1,805 1,900 A 95
01 = LH 4 1l 1,805 1,900 A 95
O gNgd g2 1,805
403 MHXSHHSA=0l& 350,000 0 350,000
02 SJ|1 2SO0l CH &HCH & A& HI 350,000 0 350,000
O SEHAUEZMAAE(HLHASA) 25 350,000
AT RAEMAX 7 FHAY 14,235,000 5,100,000 9,135,000
= 8,930,000
< 3,573,000
Al 1,732,000
401 Al B2 2B 14,235,000 5,100,000 9,135,000
= 8,930,000
< 3,573,000
Al 1,732,000
01 A& HI 13,920,000 5,085,000 8,835,000
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S =

el

i &2t el ot
©OTHOH = MHE ol
LMAIE S ot 22|

+ U=+

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
O NHTHMHRAEMAX P HUIAFS (cH U2, LHE
ABESXR) 13,920,000
— OH&2 THOHRA S HE X R EHI AL 1,668,000
= 834,000
= 334,000
Al 500,000
— LHE THoHRIE NS X 2B AIS 5,169,000
= 3,692,000
& 1,477,000
- AES MlRIEMHE X 2EU AL 7,083,000
= 4,404,000
c 1,762,000
Al 917,000
02 2teld| 300,000 0 300,000
O NATHHRAEMNSE X EH ALY 300,000
03 Al&E 21| 15,000 15,000 0
O NATHHRAE M X2 HH ALY 15,000
LENFE AXAIY 1,500,000 13,558,000 A 12,058,000
401 Al HI L 2 0HHI 1,500,000 13,558,000 A 12,058,000
01 Al& H| 1,497,000 13,528,000 A 12,031,000
O LNEBBX EXAIY 1,497,000
03 AlE 201 Y| 3,000 30,000 A 27,000
O LENEX EXAIY 3,000
FOIE dMMER 29 4,000 0 4,000
307 gizto| A 4,000 0 4,000
02 A2AtAMNE XS 4,000 0 4,000
O A XEXse e 29| 4,000
HESHAY (22| ) 54 544 155,696 A 101,152
Ol SAY|(H 22l ) 4,856 100,876 A 96,020
Ol SAY|(IH 22| o) 4,856 100,876 A 96,020
101 21 214| 4,856 100,876 A 96,020
01 B 4,856 100,876 A 96,020
O REHPe 5224 4,856
Jl2Ad gl (JHet2el ) 49,688 54,820 N5,132
Jl2 3| (RfLH2tel ) 49,688 54,820 N5,132
201 et 9| 39,200 43,780 A4 580
01 AP 2t 2] d| 39,200 43,780 A4 580
O Mt2e|lt g2 14,200
O THLHAMEHAL S AH| 25,000
-2 & 5,850
- =& 18,250
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A 22
M Y2 (22l

o2l D2 Z Yl (Hek2el ) (=& J)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
EEER 900
202 odl 6,498 6,840 A 342
01 = LH o4 1l 6,498 6,840 A 342
O Met2eln g =2 6,498
203 H R =&l 3,990 4,200 A210
04 2SI LRI 3,990 4,200 A210
O FA2IERFAH 3,990
HPES (M2 ) 1,000,000 1,000,000 0
HEAHNXIS (M2l ) 1,000,000 1,000,000 0
Met2edls 23 1,000,000 1,000,000 0
702 JI2EEZ 1,000,000 1,000,000 0
0MNII3HES 1,000,000 1,000,000 0
O Mut2edIa 8823 1,000,000




= o
A & 0l & AF 2 E A A
20149 = 20la LS H SAIHED ~ RHEFSEAG D
2M: EXNEE DN
M EXNEE 2el
¢helr EXZel (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
EXNEEN 856,726 852,888 3,838
EXNZE 2l 769,306 663,040 106, 266
EX 22 6,500 19,100 A 12,600
QI SFEH 2 6,500 6,500 0
201 Let24dy] 6,500 6,500 0
01 At 2teltl 6,500 6,500 0
O X&EYUAA SFFH =57 1,500
O NNPAA gl 222 7Y 5,000
INESEE ¥l 10,800 11,500 A700
NEsS JIE=E 22 9,300 10,000 A700
401 Al HIZ 201 8] 9,300 10,000 A 700
01 A& HI 9,000 9,700 A700
O XN&EsE JIEE MAX 9,000
03 A2 2 THHI 300 300 0
O XNEZE JIEE dHA 300
SREXNZE 1,500 1,500 0
201 ¢er24] 1,500 1,500 0
01 At 22l 1,500 1,500 0
O BREXN=ZE Sdig 294 1,500
Nel3d:e &2 667,756 536,690 131,066
KNelBBAAE E2A(0I2EANY L LEXA)A 348,094 201,000 147,094
(o]
207 A RO H] 348,094 200,000 148,094
02 & AR I 348,094 200,000 148,094
O XelE3EANAE(GIS) DB HEE HAAS 300,000
O XelE3EAMAL(GIS) DB 5 2 2elad 48,094
CE2HEFA ANAE 298 @ SXNES 8,162 6,362 1,800
403 MtXISHHE X201 E 8,162 6,362 1,800
02 S| 2SO CHEHCHE AL Bl 8,162 6,362 1,800
O E2H=A AMAE 23 2 RAES 8,162
TE2HEF=A ANEE RANES 46,500 118,000 271,500
206 = Hl 7,000 7,000 0
01 =8l 7,000 7,000 0
O HESHSH® BtHS 72 5,000
O ASHSE BAX ¢ 2,000
401 AIEHI L 20 39,500 111,000 271,500
01 A& HI 39,000 110,000 271,000
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A EXNEEDL

g EXEE 2

el Xel¥3e el (&2 &H)
SA - BB B () - MM - BES Ol &t o San HmEET
O 23 FNES 9,000
OS24 AMEE FIHEX 30,000
03 Al S THHI 500 1,000 A 500
O AIZ20hl 500
CREFA Y2 =2 15,000 15,000 0
201 et 15,000 15,000 0
01 At 22l 15,000 15,000 0
O T28=4 HUHXNE ME S 7,000
O &9 =4 22 23 20 8,000
NelHE2AAE (GIS) RAEx 150,000 150,000 0
201 L2l 150,000 150,000 0
02 =224l 150,000 150,000 0
O XNelBEAAE ST (H/W,S/W,SEMHE
22) 150,000
=XXNE =3 100,000 0 100,000
403 UHXSHHSA=0l& 100,000 0 100,000
02 SJ12S0ll CH SHCH & AF 2 HI 100,000 0 100,000
O =XXN8s =3 M= 100,000
X Ot ZE Ab2te] 84,250 84,250 0
HE SAIXRIIE ZA 62,875 62,875 0
201 L2l 60,500 60,500 0
01 At 22l 60,500 60,500 0
O HESANXIN BESx==2 59,500
-18 12 JI&EXIH BS 32,000
-7 1€ JIEXOL BB 22,000
-0l E XL BE 5,500
O HEZSAIXIL E2SHIHE M= 1,000
202 o4dl 2,375 2,375 0
01 = LH o4 1l 2,375 2,375 0
O HESAXI SEXA EXNEEH 2,375
Hgegs 20 2= 21,375 21,375 0
201 Let24d] 21,375 21,375 0
01 At 2teltl 21,375 21,375 0
O HgRgs B 29 21,375
HE2LAZH(EXNZEE D) 87,420 189,848 A 102,428
JI2ZH(EXFE) 87,420 84,130 3,290
JI2dB(EXNHE D) 87,420 84,130 3,290
201 Let24d] 54,170 50,170 4,000
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el

EXEEN
HY2LZH(ENFEED)
JI2ZH(EXNFHE D)

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %Eﬁ HRE2

01 AP 22| d| 27,170 27,170 0
O NHBR 22 =3 27,170

02 24| 27,000 23,000 4,000
O NEESEEA SANE S 27,000

202 04| 29,260 29,260 0

01 2Ll 29,260 29,260 0
O NHYAZY LOUALEX S 29,260

203 ¥ R = &H]| 3,990 4,200 A210

04 EANSIE LR F=XH| 3,990 4,200 A210
O BEA2HEIRFEH| 3,990
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